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PSSA Math: Map Shown Below (Grade 4); Practice Set 2
P2-1 

MATHEMATICS 

51. A map is shown below.

.SECiION2 

There are rlght trlangres shown on the map.
A. List three roads that form a right triangle.
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There are roads that run parallel to Troy Ln. shown on the map.

B. List all the r<t)ds that run parallel to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATICS SECTION2 

51� Continued. Please refer to the previous page for task explanation. 

Jack claims that Farm St. rs perpendlcufar to every road fl Intersects on the map. 

c. Which road proves that Jack•s claim ls not correcr/ 
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D. Explain why the map does not have a Une Qf symmetry even though it is in the
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

P2-2 

I- MATHEMATICS 

51� A map ls shown below. 

SEGTION·2 

Bl: -_________.!I '"'--;II ��I o· 
Benson Ln. 

There are right triangles shown on the map. 

A. List three roads that form a right triangle�

There are roads that run paraHel to Troy Ln_. shown on th� map. 

B. List all the roads that run parallel to Troy Ln�
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

P2-2 
MATHEMATICS SECTION2 

51. Continued. Please refer to the previous page for task-explanation�

Jack clarms that Farm St� is perpendicular to every road it Intersects on the map. 

C. Which road proves that Jack's claim is not correct? ,

O.. Explain why the map does not have a line of symmetry even though it is in the 
shape of a rectangle. 
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

... MATHEMATICS 

51. A map is shown below.

U I: ... __ · _____ . I I_ 

There are right triangles shown on the map. 

SJ;CfION 2 

A. Listthree roads thatform a righ(trlangle._
L1 1\ C¢f \ " ', V f 1

�\f<� Ser� 
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There are roads that run parallel to Troy Ln .• shown 9n the map. 

B. List all the roads that run parallel to Troy Ln.
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MATflEMATICS SECTION2 

51 � Continued. Please refer to the previous page for task explanation .•. 

Jack claims that Farm St .• is perpendicular to every road it intersects on the map. 

C. Which road proves that Jack's claim is not correct?

D. Explain why the map does not have a line of symmetry even though it ls in the
sh,.ape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATICS 

51. A map Is shown below.

SECTION 2 

U l ____ ll � �--1-D 
Benson Ln. 

d I I ( I □ 
There are right triangles shown on the map. 

A. list three.roads that form a right triangle.

l-iocdO Ave,, f!°'rm <5-h, t�\(\L/l ...

There are roads that run parallel to Troy Ln. shown on the map. 

B. List all the roads that run parallel to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

P2-4
.. MATHEMATICS SECTION2 

51. Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendicular to every road it Intersects on the map. 

C. Which road proves that Jack's claim is not correct?

D. Explain why the map does not have a line of symmetry even though it is In the
shape of a rectangle. 
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

P2-5 
... MATHEMATICS 

51. A map Is shown below.

SECTION2 

U ___ I ____.II ___ ----,,...-___.I 0 
Benson Ln. 
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C/J 
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Franklin Ln. 

� 
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0 ,�� ... --1 _____ I�� 
v o, Marlin Ln. "' 
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Troyln. 

d I 11 I □ 
There are right triangles shown on the map. 

A. list three roads that form a right triangle.

J3�J)SO/\L/'I,, l�I\C.OI(\ AW,., 0-.1\<I f(}..'ifv\S>i.

There are· roads that run parallel to Troy Ln. shown ·on the map. 

B. List all the roads that run parallel to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATlCS SECTION2 

51., Contl"nued. Please refer to the previous page for task explanation. 

Jack claims that Farm St. ls perpendicular to every road it Intersects· on the ·map. 

C. Which toad proves that Jack's claim is not correct?

K-J °'f\'\(\f (\ 'Lf\. 

D. Explain why the map does not have a line of symmetry even though It Is In the
shape of a rectangle,
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2 

MATHEMATICS 

51. A map Is shown below.

There are right triangles shown on the map .. 

SECTlON2 

A. List three roads that form a right triangle., \ , �. 
��(\SI}(\ \..(\., ., F°c-.A'c'\ S" ¾.,<.\.� ·\\l,C'(;C:)\{\,. J\\J-(,� 

There are roads that run parallel to Troy Ln. shown on the map� 
B. Ust all the roads that run parall�I to iroy\Ln. <o..Dn \-. 4\M \\\\ �t\. 'f (.\v.-t\"' �"t\ \.<\. '��� v."r S<,O r. •
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2 

MATHEMATICS SECTION2 

51. Continued. Pf ease ref er lo the previous page for task explanation. 

Jack claims that Farm St. is perpendicular to every road it intersects on the map. 
C. Which road proves.that Jack's claim Is not correct? , , (\ 1 
\Wt {\b4 tbo..� �Q�,ttS \\().,\,0 Q�()(\t �s Y\ Cto\ f\ 
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D. ExpJaln why the map does not have a line of symmetry even though ft is in ihe
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATICS 

51., A map Is shown below., 

SECTION 2 

r---

1 I 

There are right triangles shown on the map. 

A, Ust three roads that form a right triangle, 

,r' � f ,, \5�Y\ l,.nD
-\-' 6.[\VL 

\ , v-- U) \ �\f, 
. '--''' \ (\ � 

There are roads �hat run parallel to Troy Ln.. shown on the map. 

· B. List all the roads that run parallel to Troy Ln..
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATICS SECTION2 

51. C<mtlnued. Please refer to the previous page for task explanatlon.,.

· Jack claf ms th�t Parm St. is perpendloufar to every road it intersects on the map.

: C. Which road proves \hat Jack's olafm is not �orrect?.

,J 0.., ('.,, \< f s C--\ (?.� \ 5 1/10 +-
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D. Explain why the map does not have a Un$ 9f symmetry even though it is rn the
shape of a rectangle..

P2-7 

csloan
Text Box



PSSA Math: Map Shown Below (Grade 4); Practice Set 2

.. MATtlEMATICS 

51,: A map is shown below. 

SECTIONl 

U I 

There are right triangles shown on the map. 

. A. List three roads that form a right triangle •. 

L,n c.ol t'\ A \Jt,

frMk\,vt Ln.
le�oh St. 

µ· ·-

There are roads that run parallel to Troy Ln_. �hown · on the map. 

B. List all the roads that run parallel to Troy Ln.

Mo.rli '\ Ln. £> � Y\ SOi\ \,,.f\,
Frn"�"""' L"'' 

P2-8 

csloan
Text Box



PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATICS SEGTION2 

51. Continued. Please refer to the previous page for task explanation .•

Jack claims that Farm St. is perpendlcurar to every road ft intersects on the map. 

C. Which road proves that Jack's clal m is not correct?

L\nto\n A\Je• 

D. Explain why the map does not h�ve a line of symmetry even though It rs in the
shape of a rectan�le,
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2 

... 

MATHEMATICS 

51. A m(;lp i$ $hown below.
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SECT!ON.2 

r ..... -�tzi·lb b?tr--.. 1 D' . Benscmln. ' . 
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Frr:lnklin tn. 

There are right triangles shown on the map. 

A_. List three roads that form a right triangle.

{, !il 0 Dl /t vo . .,
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B<lV)Jo{, L17 .

There are roads that run parallel to Troy Ln. shown on the map., 

· B� List all the roads that run parallel to Troy Ln.,
A 11 f\( .. 
t V \ '1 - hh Lh \, 
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Got� the next page to finish question 51 •. 
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATrIEMATICS SECTION2 

51. Continued. Please refer to the previous page for task explanation .•

Jack claims that Farm St_. is perpendicular to every roag it intersects on the map._ 
c. Which road proves that Jack1s claim ls not corraon

D. Exprain why the map does not have a line of symmetry, even though it is in the ·
shape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

I-a MATHEMATICS 

51.. A map {$ shown below. 

There are rlght 'trli:.ingle�fshown· on the map: 
l 

SECTION2 

th�st �wl
ad�gi�u�it rlgrtg{Wg�l'.\OJ\�\e \ 6

L 1 f\C.0 \ f\ -A:Y� 

There are roads that run parallel to Troy Ln. shown on 1he map: 

a. List au the roads that run parallel to Troy Ln.
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PSSA Math: Map Shown Below (Grade 4); Practice Set 2

MATHEMATICS SECTION2 

51. Continued. Please refer to the previous page for las!, explanation.

Jack claims Utat Farm St. is perpendicular to ew�ry road It inter.sects on the map. 

C. Which rqad proves that Jack's claim is not correct?

f Pon Kl, n \..l\

1'0�n 

D. Explain why the map does not have a line of symmetry even though It ls in the
. shape of a rectangle., 
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Subject: Math 

PRACTICE SET 2* Item: 

Map Shown Below Grade: 4 

Name _____________________________ _ 

Number Score Consensus Notes 

P2-1

P2-2

P2-3 

P2-4

P2-5

P2-6

P2-7

P2-8

P2-9

P2-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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